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Q:-1- The perimeter of an equilateral triangle is 367V 3 cm. Find its
height ?

U HETE B s aiTa 36V(3) et 31 sHeRT S Wi it
A 18 cm
5. 9cm
c. 10 cm

D. 6 cm



TARGET MATHS- 25/25

Q:-2- If HCF of 341, 434 and 620 is x , then the value of x lies between ?
It 341, 434 31K 620 T HCF x 2, a7 x T 7T fohdes s 22
A. 40 and 45
B. 25 and 30
c. 30 and 35

p. 35 and 40
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Q:-3- find the value of x ?
X ST HTF ATd h?
45% of 360 + 30% of 400 = 25% of x
A. 1112
B. 1128
c. 1180

p. 1200
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Q:-4- The value of 96 — 4 of (18-13) +4x7 is

96 — 4 of (18-13) + 4x7 HTHE

B. 560

c. 104
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Q:-5- A sum of money lent out at simple interest to rs 715 after 3 years

and to 990 after a further period of 5 years

RIS YARTIIT FTLRUT AT WX 3 TN o A18 715 T FR 5 TN Y AT w srater o
TS 990 TUY T IUW T SATAT 32

A. 550
B. 600
c. 590

D. 625
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Q:-6- A shopkeeper marked price of an article 30% more than its real

price and offers 10 % discount. What is the gain percentage?

Teh SHTHER Ueh 6] ol Hod 3o ARAToeh 0o o 30% 3iferen siferd shear &
IR 10% <hT T TG HIAT 2| TN JTeI9Td T 82

A. 15%
B. 17%
c. 18%

p. 20%
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Q:-7 By selling 36 m of jute, a shopkeeper gains an amount equal to the

selling price of 12 m of jute. Find the gain Percentage.

36 HYET ST o WY, Teh ehTHER T 12 Hie 512 o fersh Hear o arrer st st
ST AT gl T AT AT hiteTu)

A. 50%
B. 40%
c. 45%

D. 55%
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Q:-8 Divide Rs. 2760 in to two parts such that when these are invested for 2 and 4
years, respectively, at the rate of 5% per a simple interest, the amounts received
are equal What is the second part (in) invested?

2760 U hT ST W H TH TR FTHTHRTA hi foh ST 3¢ SHATT: 2 3T 4 |TeT o foTu
|TRUT ST W 5% ot & Farer foram s, it smer ey srrer gt 7, Faver w6 e
T (H) AT 22

A. 1100
B. 1500
c. 1320

pD. 1440
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Q:-9 A 725 m long train passes a tunnel 235 m long in 48 seconds. Find the

speed of the train.

Tk 725 Hie Tall & 48 Hehe W 235 Hiet oiall GUT Sl UR Shidl gl ¢ <l Tfd
qTu|

A. 42 km/h
B. 72 km/h
c. 36 km/h

p. 100 km/h
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Q:-10 A batsman scored 124 runs , which included 6 boundaries and 10
sixes. What percentage of his total score did he make by running between the
wicket ?

Teh TSt 3 124 T 710, RTEH 6 <iieh 3R 10 Dk IMTHA 8l 36 e o
st Ega U hel ThX T Tohd=T TfasTa s=mam?

2802,
A. 31 0o
B. 17%
c. 18%
p. 20%
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Q:-11 Salaries of Ravi and Sumit are in the ratio 4 : 5. If the salary of each is
increased by Rs. 6000, the new ratio becomes 35 : 40. What is Sumit’s increased
salary?

Tfer 3T e &7 A 4:5 o FATUTT § 71 AT TedAeh o A | . 6000, 74T T
35; 403‘rm%mﬁﬂaﬁrwgana?—rw%‘>

A. 16000
B. 160000
c. 26000

p. 36000
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Q:-12 Anu is four times as good as binni in completing a task . Together
they finish the same task in 7 hours. In how many hours will anu alone
complete the task?

3T Uk I ohl O T H Tt € o T[T 3707 31 Ff fiereRt SHT i &t 7 9e ®
U A 2| 3T 3Tehed T okl Toha ¢ H UXT Shif?

B. 35/4
c. 31/4



TARGET MATHS- 25/25



Thanks For

WATCHING

Sbscrlbe' L




